PROFESSIONAL
i EXAMINATION BOARD
Pb@‘é%TJ”Ot"’” Middle School Teacher
Eligibility Test - 2018
7th Mar 2019 02:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) Albert Bandura was a proponent of which perspective of personalities? / 3[ea¢ g1 HfaIa &
fora aitliey & gearas A2

1. Humanistic/ ATIAIG!

2. Behaviorist / IGgRaTd!
3. Psychoanalytic / TRy
4. Social cognitive / HTHTID HHHTHD

Correct Answer :-

« Social cognitive / HTHIDH HJHTHD

2) The differences observed among different human groups are typically ./
faftra v e TgEl & d 39 9 91 SidR I GOk
1. genetic / GHEJ,HT&I?T (@lﬁﬁ@

2. cultural / ﬂm
3. artificial / PAH
4. heredity / IRITIHH (%m

Correct Answer :-

« cultural / m

3) Success of Inclusive Education depends most importantly on: / TR fRrem &t Tweran
e Agayul &0 I 39 R R wedt 8

1. High quality textbooks / 3= T[UTGT Ci ‘ZHBTIW
2. High quality teaching learning materials / 3= T[UTddl D1 fRreror siferTa Qg



3. Community Support / Wmﬂﬂ%ﬁ
4. Additional change among teachers / fRrefent & T sifaRked sqama

Correct Answer :-

« Additional change among teachers / fRrerent & 9 sfaRked sqama

4) Kohlberg and his associate postulate stages in moral development
divided into three major levels. /

PIgai 3R 376 Geai ST a8 fh Afow farrgd | srawumsi &)
F vE &R A fyvrfera frar man 21

1. Two /Gl
2.Six / 9%
3. Nine /1
4. Four / dIR

Correct Answer :-

. Six /9%

5) Development never stops. This statement emphasizes the principle of: /

e wft 78 vwar | g8 Hy Fu Rsid wER ar :
1. Integration / TDHIHRUT

2. Individual differences / I AANG

3. Uniform pattern / Th JHIT Te+

4. Continuity / fARGRaT

Correct Answer :-

o Continuity / [GEGEGI

6) Learning to drive a car, singing or memorizing a poem or mathematical table etc need exercise
and repetition of various actions and movements many times. These cases of human learning which
involve the connections in the brain being strengthened or weakened are part of which law of learning
by Thorndike? /

PR, it a1 a1 Hfaar ar 7 arfereT enfe @) are W & fore 3 ar s ok fafts srat
TYT T & GARIGRI P STaRgHar gl 8 | Aa R & 39wl 8, aferss & Yy weiga a1
PUSR B4 8, T8 S5 & MRATH BT H=-I1 g 32



1. Law of exercise / 3319 &1 a9
2. Law of effect / WHTd &1 fAgg

3. Law of readiness / IRdl T g
4. Law of Attitude / 3T¥gfi &1 fam

Correct Answer :-

+ Law of exercise / 33 &1 g0

7) The function of Educational guidance is: /ﬁf&l’fﬁ 'FI'I"'fa"\’f:f Cal Wﬁ%

1. getting the best out of education/ fRrenm &1 Tafas oy <A

2. understanding the philosophy of great educators/ HgI- e/t & g2 & HHHAATI

3. giving occupational information/ TS SHBRT GT|

4. inculcating social interaction among the students/ B & o HTSTS HAsid G

Correct Answer :-

 getting the best out of education/ 218 T garaH a1y <1l

8) The best method to study diversity among pupils is through method /
faenfial & S ffRya T s FTHeR sTadter . fafar gl
1. Introspection / STETRIETT

2. Experimental / TORTIH®

3. Observation / 3facIe

4. Case study / HY el

Correct Answer :-

e Observation / 3galb

9) Cephalocaudal means: / Awalbsd o1 Y 3:
1. Head to toe / RRI W

2. Whole to part/tj:Uf@f HifR1D

3. General to specific / ITHN ¥ fafere

4. Center to periphery / CE-RIND

Correct Answer :-

o Head to toe / RRI W



10) Whose theory focuses on the culture in which a child grows up in? /

frae Risia Twpfa iR Fd wear o t@ san ssT a2
1. Fromm / W19

2. Freud / HITS

3. Vygotsky / ATgTIca]

4. Kohlberg / HIgaar

Correct Answer :-

» Vygotsky / CIEUISIED

11) A child learns to stand up only when a teacher enters the room and not when a student or any
other adult does. What principle of learning explains this behavior? /

TP T pad a4t W1 g1 & o9 e FAY § 9aw Hd1 ¢ 7 {6 Fa PIs s AT DS 3
JUD YA T ¢ | ST H1 i 1 Rigia 539 SUagR ) TS BT 872

1. Stimulus discrimination / 3&I4& fAHEIHROT
2. Stimulus generalization / Sg U ATHRITHROT

3. Stimulus response / 3& U Gﬁﬁﬂ'{
4. Stimulus observation / G‘a"rw e

Correct Answer :-

« Stimulus discrimination / &1 fANEIHIT

12) What would an intelligence test that deals with experiences common to all cultures be called? /

T g weror «an ghm it gaft S faat & qra srgval & Tefia 872
1. Culture forward test / T¥pTd SHUH TRI&OT

2. Culture biased test / ST G&UTCT TRI&0T

3. Culture free test / S Td Jard URT&UT

4. Culture fair test / S¥apidl feges TRiefor

Correct Answer :-

« Culture fair test / S¥pidl wer ulefor

13) What types of questions assess knowledge of general information in an intelligence test? /

TS gf Ueur # I SHSRI & 1 &1 Jeaie- (59 TSR & U4 HId 82



1. Comprehension / dg1
2. Information / T
3. Similarities / HEY

4. Proverbs / deldd

Correct Answer :-

 Information / T

14) What is most true mental health problems? / HaQ IR<fI® AP WY XY T 87

1. Mental health problems means unable to do work./ HR% WAl Ga3f &1 Adad HH & J

ST A B

2. Mental health problems means unable to recognize people and things around. / AR Ry TS
&1 37 B, AN STR SHIUT BT dToll DI Tg! Tga=H|

3. Mental health problems can affect the way we think, feel and behave./ RIS Wy T, Btlﬁ
I, e B 3R HGER HRA &b a1 P YHTId B Jhell ¢ |

4. Mental health problems can affect the way we respond./ HRI® W T SHI\{ STaTd G o Rl

P gHIad PR bl g |

Correct Answer :-

o Mental health problems can affect the way we think, feel and behave./ AHRS Wy I, Etlﬁ
TreH, HEH B 3R HGER HRA &b Rl Pl YT HR Jhel! & |

15) What type of intelligence is likely to be used during a game of cricket? /

fohthe & W & SR, 5T PR o1 gfgwar & ud fre o &) GHTaT 82
1. Bodily-kinesthetic intelligence / RIS -TTfoadl @@ﬂﬁ

2. Naturalistic intelligence / STHTA® Ffgr

3. Musical intelligence / Sifid Seieh gfgaw

4. Linguistic intelligence / 41T et g

Correct Answer :-

« Bodily-kinesthetic intelligence / TR -Tfada< g

16) Apart from formative assessment, another type of assessment that provides insight about the
sufficiency of instructional materials is: / YAITCH® HTHAT P ATdT, Th T UHR BT ATHAT ol
=TT A @t yaterdr $ R § Siaei® UerH $Rdl o

1. Diagnostic Assessment / FaHED 3HTha-

2. Interim Assessment / 3fdRH 3THad



3. Summative Assessment / q\I‘IId-IOb NICTNE

4. Entrance Assessment / TR 3MTH

Correct Answer :-

e Interim Assessment / 3fARH 3Ha

17) Zone of proximal development refers to: / T fawrT &1 aﬁ ﬂ?{f\‘h DIl %:

1. What learners have not yet developed / fRremeff 7 anft 9 w1 fawfa el foear %?

2. What learners can do with or without help / ﬁT&ﬂ?ﬁﬂ_ﬁqﬂT & TIY T 39 o1 R H bl %?
3. What learners are able to do proximally? / fRremelf giiufy a1 B & e %?

4. What learners are able to do distally / ﬁT&ﬂQﬁ:W T B | J&H %'?

Correct Answer :-

« What learners can do with or without help / Rremff Terrar & Tr a1 I o1 1 HR T 82
18) Pedagogy is the study of ./ Rrgmame cafcition iof

1. Learning process / 3T Ufeha

2. Teaching method / fRr&for fafdr

3. Guiding students / ST ®I TMSS HRAT

4. Education / TRr&

Correct Answer :-

« Teaching method / fRr&for fafdr

19) Harry loves solving puzzles everyday as he finds solving puzzles fun and exciting. This is an

example for motivation. / %ﬁﬁmﬁ?@mﬁmmmm%maﬁ
ot & AT TGS 3R AATTS a1 3 |1 T8 URUTT &1 TP SGI6TYI 3|

1. intrinsic / &fa’-iﬂ

2. extrinsic / dl&]

3. fear-based / Y-SR

4. power-based / TIfad-3UTRd

Correct Answer :-

e intrinsic / &H%

20) Who argues that the mediation of someone more knowledgeable is vital in learning? /



P dd gl § for foredt Bt werwyan, sifre gfag siferm & wgayquf 82
1. Piaget/fq'ql@f
2. Erikson / 3R&HG

3. Freud / oIS

4. Vygotsky / CIEUIRSED

Correct Answer :-

* Vygotsky / alglilf\‘:l$|

21) Who proposed the idea of fluid and crystallised intelligence? / dX¢l AR I m & faar
1 Y9 fpa- @

1. Cattell / B

2. Gardner / SR
3. Sternberg / et
4. Guilford / FreTTs

Correct Answer :-

e Cattell/ Hed

22) Adolescence means: / fop=nRTa=T &7 G{Qf% :
1. To do work / hTH D]

2. To grow / de-l

3.To pIay/@FFIT

4. To study / ST DAl

Correct Answer :-

o Togrow / de-l

23) CANCELLED

Beliefs about fundamental categories and properties of world are
gfrar & 7@ AfraT iR o & AR faym, 2l

1. Epistemic beliefs / SIJHIHIPH fayr

2. Epistemological beliefs / IHHHR fayr

3. Ontological beliefs/ ITHcIh fayra



4. Axiological beliefs / H@W’q fayra

Correct Answer :-

» Ontological beliefs/ JdTHIP EEIR]

24) Symposium is a type of / EMY (RFforaw) v yoR &1 gl
1. Demonstration method /Wﬁm

2. Lecture method /@T@Jﬁﬁﬁ[

3. Discussion method /W—ﬁﬂ'ﬂfﬁﬁ[

4. Discovery method /@Tﬂ fafer

Correct Answer :-

« Discussion method /W—ﬁﬂﬁfﬁﬁ[

25) According to Vygotsky, the major emphasis for cognitive development is: /
TP S TR, G (Ao & R Tqa@ SR &:

1. education / frem

2. religion / et

3. intelligence quotient / m
4. social factors / TS TRfRIfad

Correct Answer :-

« social factors / ITHITTS URIRUTT

26) The aim of scientific investigation is to provide students opportunities: / ail'lﬁﬁ? S &1
IR B! B AT 3R UgH H7A18:

1. cognitive processes only / Had IETHESD fharsff

2. to use concepts only / Had AHTURUNS BT ITAN B B fam

3. skills to solve problems only / Had TS BT 8 A B fam DI
4. all of the above / SURTad Gt

Correct Answer :-

« all of the above / TR IHt

27) A child suffering from dysgraphia has: / feanfrar a4 dﬁmaﬁ aﬁﬁ'ﬂlﬁ?ﬁ %:



1. Language difficulties / HTST T Hfes

2. Low mathematical abilities / S IO emram

3. Reading difficulties / M(f,:I H d?lrc\b"ll‘g
4. Writing difficulties / fora & &feArs

Correct Answer :-

« Writing difficulties / forRa H Sfeg

28) Learning by Project Method is technically known as: / TISTAT (tlﬁ'!ﬁTﬂT) faftr g Srftrm
TH-NP! TU A Hgarm 8

1. Adequate Iearning/q?ﬁl?[ ST

2. Efficient learning / THTGT ST

3. Incidental Iearning/m ST
4. Systematic learning / SIaIRUd 31fTH

Correct Answer :-

 Incidental Iearning/m ST

29) With respect to Principles of Child development which of the following is false? /

frafafaa # Q@ 19 919 fIe™ & Rigial & 9y # o 82

1. Development depends on maturation and learning /W, gRUSHdT 3R T IR AR
FRAT B

2. Development proceeds from specific to general /W, ﬁfﬁ@m@rwﬂmﬁr \#RWT%I

3. Development proceeds from simple to complex / IrEIObN-I, IR § Sfeadl ot aﬁwm%
4. Development proceeds from top to bottom /ﬁw, $A Y A B WW%I

Correct Answer :-

« Development proceeds from specific to general /ﬁw, fafRryar @ =T ot Gh?WT%I

30) Typically, children create gender stereotypes by ./ SMHAR R, T forr
ey s &
1. not socializing due to gender-specific activities / feT-fafery fafafeal & SR THIHR 781 g R

2. focusing on the negative attributes of the opposite gender / fau<ia feiT & THRTHD {'[Uﬁ R &9 diad
DY

3. maintaining gender-neutral friendships with children of both sexes / S ol & =t & ary fofr-fer
ST ST TGHY



4. sexualizing peers of both genders / QI [T & TR & HIEHAT STHR

Correct Answer :-

« focusing on the negative attributes of the opposite gender / fausia fei & THRIAD ‘IUﬁ R &H diad

Topic:- General Hindi (L1GH)

1) TH TR AUR & Heq A RU & an it Righ dgar 8 18 a@F gadt vw Iuf~a=n & am o g ar
TR YU USTI 9 AWIBT F NYFAP 7oA 1 1R A 3@ @t MUl gar ga7m {6 sarerar 330 @) Harg
el 3zar & g1 U1 A @ 9 fredt o A Wi Yt wia & 811 1885 § v i 7 wfwar o | el
3T SFIPT HETSR P MU H dic fUT| 39 98 T 3PP & WIear ¢ &1 WATE et Yarsi & g9 1)
et wafkml & 819 areft uer Fur 31 st # fisiRe & Ierevvr | vdr ad«r @ fr fra e A ue
A fft Yyumr & wfda & Teftezor & U TR R gUIfad % GFdl 31 BIBT 37T HETSRT T S8l uR
S 3R WAl o1 3rpd YeR 4TI AT @1 Wit 3R IR | o9 HHA & fore snwtet uga a1 afea
32 981 Toigl 3t Ut ot Saeht vt 98T ve ok ot wuwn 3 <ft i Rt @i Agar 31 & qrasg
P TE1 BT ATed A1 AT SBIPHT DI ATEISE 9gd B At 3R T8T Uy AL Bt Ioig A AR B
TRXd ST A gt 3 STt Y | I 3% 919 B FIS oewd g el A fr 1 Hum & fore s HY

TR AT A SPIHT & AT &1 I IR a1 & I #3 a8 v 399 & 99 -1 @ M g1 i R
ST e ST T 1T foF S/ A 9t g ST HR U A St Wl 3R AR § BT FHRd A1 STRIRBR
& BTIA B ded fear T 3« fuedt ot ufvar &1 ve &t Jew Tl &1 STRIfUSRT a9 Gddr 4TI 399 3
NN Y AOIgd! B R 918 §IHT USTI WM § BTH H- aTd Jolgel df hud & Hiaw g1 ar oiren o1 3R 35
AT gHA ®1 Ze T8l A | RSIUT BT NpIdT | T 1880 & GRI$ & ATRAR T 3T UTI IT SR 3 WSt
F 1y 3ms At <) fafexr wRmr A ae 1w A1 T 39 seferm Afwl #Y wee F e fvar war ur &t gdf
SpteT B TR W Smepur w7 38 A1 Vet 1R ifpet & fandt Sivra oY omt 3t ave a w151 1892 3ma
3T a5 AR SrpieT & ufndt ae 9 ugda gt A

ST TR B UghR 1 YD T U= P Sk 9a13¢|
Y AT AT AGTATT ¢ & A1aS]G T T8l BT a18d &2
1. B

2.0
3. 3RMH

4, foran

Correct Answer :-

2) TP W AR & b | GRIU $ a1 o it dgaw g1 18 df godl T IJufa=n & dRl R 5991
R YUTT USTI 9 AWIHT & AMYFP TaR &I TR & @ dF Mye) uar gan fF sarerar 320 @1 g
Weft 3zar & &1 VT A @ o frelt o A W Yart wia & 811 1885 § v 7 wfwar ol o el
3T SFIPT HETSR P MU H dic fUT| 39 v T 3PP & WTear <Xl &1 WATE Aieht Yarsi & g9 1)
f¥eviwe 7afdmEl o g9 arclt T Fu 21 anfle A et F I A uaTaaa & fr P Re A &
Fart feelt YT § ey & Fiieor & U IR W THIRT ST Fobdl |1 SPYRT AT HETSW AT WiEl W)
S SR Wil o1 fpd USR 4TI QR @Rt Wi ok Tl | 4 FHM & fig snpteT uga A1 afea
32 981 gyl 3t Ut ot Saht vt 98T v ok o) wuwn ¥ <At i wiritg @i Agar 37 & qrasg
P TE BT ATed A1 GRS SNBIPHT DI ATEISE 9gd HH 2t 3R T8T Uty T Bt goig A ARl B
SReXd ST A g 8 Sl Y | 3 39 91 B FIS oewd g el o fr 19 Fum & fore s w3



TRIYT AT A SBIHT & A 1 I IR a1 & I #8 i uAg | 398 | $9 -1 g M &1 e R
3T 3ife TR T T 6 I/ Fad at €} g1 HR U A S WY 3R T H H HRd A1 FWIPR
& BT B 95 foar a1 3d fHt +ff aftarR &1 T §1 Howa e &1 SRS 99 GFHdT 41| 599 3
T B ToTgd HRA W AT FHIT USTI W A BTH B aTed HolgRl bt Hud & e 8 @ Srar o1 3R 3%
AT gHA ®1 Fe 81 A | RSIUT BT 3pIdT | ST 1880 & GRS & TR H 3T UTI IT SR S WSt
F 1y 3ms At <Y fafewr TR F are Tu A T 39 e AfwT Bt wee F i v war ur ot gdlf
3Bt A Tifear w ampHur 3% @ A1 Revuwe IR siffhet & fft Sivra &) 3T &) avg e 7151 1892 3Ma
3Td a5 AR SrpieT & ufndt de 9@ uga gt A

IUYT T B UgHR 1 IR T U= P Sk qa15¢|

WY: WIS 3R AT & 99 HHH & AT sptet i ugd &2
1. TREAE aR

2. QR &N

3. YR I

4. 3RE & AR

Correct Answer :-

.

3) TP WP AR & B A TY F @l @) Rigwht dgaz 81 18 ) g R Iufa=i & a R s9e1
R YUTT USTI 9 AWIHT & AMYFP TR B TR & @ dF MU yar gan fF sarerar 320 a1 g
Weft 3zar & g1 VT A @ o frelt o A W et wia & 811 1885 § v F 7 wfwar afedw o el
3 P! HETe P TN | dic T 59 aRE A PIPT S ISR S $I AT Weh Ya@mei & a9 |
f¥evie WM A g areft te S 21 st A Reviwe & Ierevr & uar Tedr ¢ & fra me A e
Fart feelt YT § ey & Tt & U 9 W) THITRIT ST Fobd |1 SPYhT AT HETSW AT Wigl W)
SN SR Wil &1 rpd USR 4TI QR ahT Wfae ok Tl | 49 FHM & g snpteT uga A1 afea
32 981 gl 3t Ut ot Saht vt 98T v ok o wuwn ¥ <At i Rt @ Agar 37 & qracg
P TE BT ATed A1 AT SBIPHT DI TGS 9gd HH A1 3R T8T Uy T Bt goig A AR B
TRXd ST A Y B STt Y | I 5 91 B FIS Sewd g gl A fr 1 s & forw s w3

TR AT A SPIeT & @ &I I IR a1 & I #3 a8 v 399 4 99 1 @ M g1 i R
a1 ifter ¢ wvman T fh I haa 9l g 3eT B UTd A i @A) 3R IR H BT $d ¥ ITWRIUPR
& BTA B ded fear T 3« fadt ot ufvar &1 ue 8t Jew Tl &1 STRITUSRT a9 Gddr 4TI 399 3=
RN 1 ASIg! B UR 918 G141 USTI GTH H BTH H- aTd JolgRl dt Hud & Hiaw g ar oimen o1 3R 35
AT gHA B1 Ge Tl A | NSIURT BT Pt | ST 1880 & SRS & ATRAR T 3T UTI Ig SR 3 WSt
F 1y 3ms At <) fafesr wfmr A ame 1w A1 T 39 sferam ISl #Y wee F e fvar mar ur St gdf
BTt A TRfear w mhau 3% 38 A1 Revuwe g¥ ifihet § fhlt Sivra &t 3T o1 avg ba 151 1892 3Md
3Ta a5 AR epiet & ufndt ae 9@ uga gt A

IUY e TR B UghR 19 YD T U= P Ik qa13¢|
WY SBIPHT AT § agardd | &7 Hig[g 412

1. forgt 3R Tt

2. %0 Y T8l

3. 91 3R g4l

4. A 3R QS Hoar

Correct Answer :-



. SHH IR WS gue

4) TP G AR & ba- A TRT & a1 @1 it dgax g1 718 a9 gl e Iufa=n & @l W 59T
TR YHTT USTI 99 WD & MYFAP TaR &) 1R F @ @ 3mues) uar g fF surerar 3= @1 g
et Y 7 71 T oA ¢ o feelt o A it Yae Wi & 711 1885 H R Ft 71 fdat afer A et
3T STFIPT HETSRT Y MU H dic faT| 39 v W 3PIeT & wrgar <X ) WATY et Warsi & 59 w1
frevtwe 7aflkmEl & g1 arclt Tt Tt 31 sl A fisRie F e A uaT gaa R fr o e A &
Fart feelt Yy § ey & Fiteor &1 Ui 9 W) THITIT $T Fobd 81 APIhT AT HETSN AT el W)
S SR Wil 1 3rpd YeTR 4TI TR @1 Wfe 3R aRTHT | 9 A & fore snwtet uga A afea
I2 a81 Auigyl Bt U H et Ut | 98T U SR a3t wuan A <t i g a@hr Agarn 31 & J1aeg
BT L BT ATed A1 SRINTA NBIDT B METSt 9gd HH A 3R a8T U I Bt gorg | ANl Bl
TReXd ST A Rt B ATt Y | I 3% 91 B BIS oewd g gl At fr 3 s & fore s e

TR @M A SPIRT F A Bl I WR a1 & R #8 a8 v 399 | 9 1 g M g1 i R
AT 3P TR T T 6 I/ Fad at €} 3ieT HR U A S W R T H H HRd A1 SWIPR
& BT B 95 foa1 a1 3d et +ff aftaR &1 T §1 Hewar e &1 SIS 99 GHdr 47| 399 3
T B ToTgH HRA W AT G USTI W A HTH B aTel HolgRl bt e & iR 81 1ar Sran ot 3R 3%
AT gHA ®1 Fe 81 A | RSIUT BT 3pIdT H ST 1880 & GRS & TR H 3T Y71 IT SR S WSt
¥ a1y 3ms At <t fafesr TR d aw w4 T 39 sferam Afwl Bt wee & g v war ur o gdf
3npleT # Tifear w ey o2 3@ A1 et IR siftret ® fft Sivrer &5t om ) ave e 11 1892 3
3Ta g AR SpteT & ufddt ae 9@ uga gt At

ITYR TR Y UgHR 1 I T U= o1 Ik qa1su |

WHY: 3MPIhT Y RITT AR o1 fd e B HHl BT AT A1 UST?
1. YIS &I

2. U b

3. AIGR] Bl
4, AT B

Correct Answer :-

. HUGRI B

5) T& WP AR & Be- A [T F @l &) Right dgar 81 78 ) g e Iufa=i & a ) 39&7
TR YU USTI 9 AWIBT F MYFAP 7o I 1R A 3@ @t MUl gar ga7m f sarerax 330 &) Harg
Weft 3zar & €1 VT v @ o fbelt o A W Yt ©ia & 811 1885 § v i 7 wfwar ol | Rl
3T P! HETe P AT | dic /T 59 aRE T PIPT P TIGMR S BI AT Weh Y@mei & a9 T
et wafkml # 819 areft uer i 31 it H fisviRe & Ierevur | vdr g« @ fr fra e A te
A fedt YyumT & fed & THfiezor & U TR R gUIfad % GHdl 31 BIBT 37T HETSRT AT S8l uR
S 3R WAl 1 3ipd YeR 4TI QAT @1 Wit 3R IR | o9 HHA & fore snptet ug a1 afea
32 981 Toigl 3t Ut ot Saeht vt 98T ve ok St wuwn 3 <At i w1 Agar 37 & qrasg
PTH 8! BT ATed V| ST BIHT B MaTd 9gd ®H A 3R I8T Suasl JATLHT Bt aoig | a1
TReXd ST A Y B STt Y | I 3% 919 B FIS oewd g el A fr 1w & fore s H

TR AT A SPIHT & A &1 I IR a1 & I #3 a8 uAg| 398 4 99 -1 fd M g1 e R
ST A ST T 1T fF 39 A a1 g ST HR U A S Wl 3R ARTH § BT FRd A1 STRIRGR
& BT B! ged far man 34 fadt Wt uRaR &1 te g Joxa 9 &1 SWRIRGRT a1 GFar 4T 599 3=
RN ) AOIg! B R 918 G111 USTI GTH § BTH H- aTd JolgRl bt Hud & Hiaw g1 ar oimen o1 3R 35
AT gHA ®1 Fe 81 | RSIUT BT pidT | T 1880 & SIS & ATRAR T 3T UTI IT SR 3 WSt
F 1y 3ms At <Y fafexr ohmr A aw 1w A1 T 39 sfermm AfwT #Y weae F e fvar mar ur ot gdf



BIHT H TRITTT IR 3pHUI X Te F1 U Q¥ SHfthepT # ol SivTer & ST &t avg T 7351 1892 37d
3Td I8 SR SrpieeT & ufdedt e a@ ugd gat &

UL T B UgHR 2 TR T U $T I« T3¢

TY: T | BTH B T AGRI D BT @7 STl AT 3R 37 F1 e a1 A2
1. Suad B A IS Tl

2. R H Yd A B

3. UG H SR g1 g Bt

4. G H 3R TR STH B

Correct Answer :-
.« ST H 3R G gHA B

6) & WP AR & B A Y F ARl & Rigit dgav g1 T8 af g TwRe SR & a1 IR §9PT
TR YHTT USTI 59 AWIHT & MYFP TaR &) 1R J @ aF mues) uar gan fF sarerar 3= @1 g
Weft YT A &1 1 e @ S el o A Wi Yt wiw € g 1885 A v o) 91 wiiTwar afkiw A el
3 AP HETSRT HI AU | qic AT 39 e A NHIPHT & SUTGIaR =N &1 WA e Yarsh & a9 1|
Fevive Hakm & g arelt ve SuRt 81 snple ® fYevuve & Iarevur I uar gadr @ % fra e A e
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U: PIge A P! SH W I Bgl o1 3@ 872
1. gleq & forw

2. BTH B

3. | HA

4. Qe & forw

Correct Answer :-

. HHBA

18) PGy U ¢! USP IR T FH W AT 3
Hde-gde

= BT W 138 &

TR WY B Fad YIS UfR § T8
YOS § 39 fyavu & v foran s
foraT s fYT 59 wara @ @vE

P TR T A8 § T2

T Siafeel § AR 78 § 9t 71

1 el A @ Rrar €

I & faht frarat &t

T HTA UGTS & 1d g9 1Y § AR f&e=
w1 fedt ybu A gg g §

AR el B gARA

T AR AGH, TR T 3R RN & =
T §1 Y § UHITH

at fipx o € w1 § 39 g 2

foem vaTs g AR T g



YU § dfhT 3 ot surer a8

& & 9t A sxawm@

TR g1 B FIRT WSH! T ToRd §Y

¥, 9gd Bl B I

HH W AR F

ST Ui $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l
U=: fRdt y&u # 71 g8 B a1d B Ha1 32
1. T A PS4

2. H&H! BT SARA

3. JR&f & fore =it dan

4. TR 3R fbel

Correct Answer :-

. Al Bl AR

19) PIgY A CH! USSP W I B W AT &
de-gde

T FTH W AR §

AR WY B e YU UfR § T8
YOS § 39 fJavur & g foran s
fRra s feq 39 Hara 9 @vE

F R FI 91 & =22

T iafve § R 78 § 9t 1

1 el A @ Rrar

AR & faaht forarat &t

T BT UgTs & -1 g9 ¢ § AR f{d=
FfeR ypudce g

AR HeE! B FARG

T AR A, AR T 3R W & 3=
T E 7T § UhILD

it iR s St 8 s g A

e v BT SRR T giar
YIS § dfhT 3 ot surer a8

fo 8wt el s



R giaT ) gRT ! | ToRd §¢

9=, 9gd B¢ B T

FH W AR T

STT YR P UgHR H1Y YR oH T U= $T Sk qaige|
UR: Ya5-Ya8 = oid o1 38 ¢ a1 T 9 9d 3?2

1. Tt

2. §gA UG

3. SRR

4, 99d

Correct Answer :-

. §gd S

20) PR A P! ISP WX T HIH W AR &
gIe-g9%

T FTH W AR §

AR THY B W WIS Ufed § 98
YOS § 39 fyavur & g foran s
fera s Tfeq 59 Hara o @vE

FH W I o138 § 992

w1 Siafes § R 7 § A 31

w1 §HADT A @ foran 3

AR 1 fah fparat &

T PTa UgTS F 19 g9 U § 9N /A
a1 et oy # TE T ©

AR HeH! B TARG

T AR A, TR T 3R W & =
T gl Y § THITH

a1 fipx oo € w1 @ s9 g 2

faeT v gaT AR T gt
YOS § dfpT 33 ot surer a8

& & 9t i svaum@

W g 3t s9RT wSH! | TeRd §U
9o, 9gd OI¢ B I



BT R Q&

ST U F UgH AR IR H ard U= $T Sk ga1s¢|
US: 4 & AR TR THT B YA Ufed o1 82

1. 9RI R PIEX §

2. BT 988 U¢ §

3. qadE 8

4. S HH R A §

Correct Answer :-

. THPHRAR S

21) HIE A <P TSP R 9= BH W STIE @
Yog-Yde

T FTH W TR §

AR THY B W WIS Ul § 98
YA € 39 favor & v Rran s
fera s TfeT 59 Hara o @)E

FTH W I o1 I3 § 992

w1 Sfafves ¥ R 7 § Al 31

w1 St A @ R @

IR & faft forarat &t

T $TA UgTS & -4 g9 MY § AR f@e=
w1 el Yoy @ g8 S @

AR HeH! B TARG

1 9N A, 9N TR 3R W= & S
T € T § TP

@t for s ft 7 8 s g A

foeT yaTs g AR Ta grar

AT § Afe 3ad i wurer a8

¥ & wrd s geauTg@

W g #1 T9RT WS @I A TeRd §U
¥, 9gd Bic Bic I

BT R AR &

STT U F UgHR AR IR WH ard U= $T Sk ga1s¢|



wA: R 1gTs & R YA 79 U €, 39 UgTS &1 9 1 82
1. gbg
2. BT

3. et
4. 30

Correct Answer :-

22) HIEY Y P! YSF R I HTH W STIQ &
Hde-gde

T FTH W TR §

TR YU B 98 YIS Ufad § 98

YA € 39 faavor & ave fRran s

forat s Tnfev 39 ard 9 e

FTH W I o1 7 § 992

w1 Jjafver ¥ AR 1 & Wt g

w1 St A @ Rrar @

IRt T et frarat ot

T BT USTS & AAId &d 7Y § 9K f@e

w1 el Yoy & g5 S @

AR HEH! B TARG

T AR AGH, IR T 3R W & 3=

T gl Y § THITD

at fiex o € /1 8 sw g A2

feT yaT® g SR T giar

T ¢ Afe 3d i wurer a7

& & 9t il seaumE

W g B 59N HS@! ¥ TerRd 5T

¥, 9gd B¢ Bie I

BT R AIE §

ST U DI UGH - T A Tt U BT IR Jarstl
TR: T2 & B W W & faavor &) fRra=m w82
1. feerery



2. 9@q
3. YOS
4. AR

Correct Answer :-

23) PR A B! ISP W T HTH W AR §
{de-gde

T FTH W TR §

AR THY B We WIS Ul § 98
YA € 39 favor & ave Rran s
fera s TfeT 59 wara @ @_E

FH W I o1 I3 § 992

w1 Sfafves § R 7 § Al 31

w1 St A @ R @

AR} ¥ fokaft forarat

T BT USTS & 14 &9 ¢ § 9K f&a=
w1 el Yoy & g8 S @

AR HeH! B TARG

1 9N A, 9N TR iR Wi & =
T T T § TP

at fipx aar §t /T @ SW g A2

feT yaTs g SR Ta giar

AT § Afe 3ad i wurer a8

& & wrdt i seaumg@

W g aT B IRT WSH! | ToRd §¢
=, 9gd B¢ Bic I

BT R AL &

SUT U F UgHR AR IR WA ard U= $T Sk ga1g¢|
UH: $9 HIdaT § HId T 94T Dl 82
1. A $a1 9¢ 1 82

2. 5= BT Al gl hR?

3. AR 1§ A fw



4. HTH TR I o1 @ § 922

Correct Answer :-

. HHR AR & T2

24) BIEY A CHI ISP W I S W ATIE &
Hdz-gde

= BT W AR 7

TR GHY B 9 WIS Ufed § 98

YOS § 39 [yavur & e foran s

fRra s TfeT 59 Hara o @vE

HT R FI 91 & =22

w1 Sfafes § R 7 § A A1

1 el A @ Rrar €

AR & faaht forarat &t

T BT UgTs & - g9 ¢ § AR f{d=

w1 felt ybu A gg 5 ©

AR HeH! B FARG

T AR A, AR T 3R W & 3=

T El Y § TP

@t f5r s g s g A

e v BT SRR T giar

YIS § dfpT 3 ot surer a8

& & 9t A svawm@

W giaT 1 gRT 9! A ToRd §¢

9=, 9gd Oi¢ B I

HH W AR F

ST Ui $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l
URH: 39 HiAdT & JUR fhaq 93 9= &TH W A1 R 32
1. Rigy

2. fhRIR

3. dgIn

4. §gd Blc-BIC

Correct Answer :-



25) DS A P! ISP WX T HIH W AT &

Hdz-gde

T FTH W TR §

TR WY B GO YA U § T8

YOS § 39 fJavur & v foran s

fera s T1feT 39 Hara o @)E

F R FI 91 & a2

w1 Sfafves § R 7 § A 1

w1 §IHDT A @ foran 3

I &1 gt frarat st

T ST UTS & 19 g9 U § IR f{eA

wfrR ypudce TS

AR HETHl B gARA

T IR AGH, TR T 3R R & =

T € Y § TP

it iR s @ g s g A

fae AT gaT SR T gt

YU § dfhT 30 ot surer 7§

& & 9t A sxawm@

R giaT ) gRT ! | ToRd §¢

9=, 9gd B BR T

HTH W AR F

STT TR P UgHR A9 YR oH T U= $T Sk qarse|
UR: JRAYT 3R ARSI & IS0 ¥ g dfea = @2

1. Fifp I oY Jod TSt JHET U § 3R 3% IRAR &1 Sitad I HHR R R Bl
2. Fifds ITHT BRI B FordT T T 3R I T AT STl 3 |
3. T URIG 1 TieHt 376 Holga! R & T Jord gl
4. TP I 5 HTH DI B H 3G AT G|

Correct Answer :-

. TP I fI Iod 9 gHwr Ue § 3R 390 URAR BT Sita- 3! HHE R R Bl




26) HIEY 9 CHI HSD W I S W ATIE &
{de-gde

T PH R AR §

TR THY P T YATIH iR B 98

WIS § §9 faavur & avs foran wmn

forat s Tnfee 39 gard 9 e

FTH W I o1 I8 § 992

w1 Jjafver A AR 1 & Wt g

w1 St A @ Rrar @

I T et frarat &t

T $TA UgTS F - g9 Y § IR ¥

w1 el Yoy & g5 S @

AR HEH! B FARG

T AR AGH, IR T 3R W & 3=

T § Y § THIH

at iR T ft @ s g A

foe yarTe gier R T g

YT ¢ Afe 3@ i surer a7

¥ & 98 I seaumg@

W g1 3 FRI HSH! & TorRd §¢

¥, 9gd Bic Bl I

HTH W 1 T3 &

IUYed U Bl USHR A YD §F aTd U= BT IR Ia13|
;g #) fpat Teo! @ ToRd §Y = W W ST IR &2
1.Tb

2.q4

3. BOIRI

4. Udyg

Correct Answer :-

27) PR AP TSP RTAPH R TIIR &
gdg-gde



= BTH W 138 &

TR TUY B YA YA UfR § T8
YA € 3 favor & ave fran s
fRrar s fYe 39 Tara @) @_E

B TR T A8 § T2

w1 Jjafver A AR 1 & Wt A

w1 St A @ Rrar @

I & faaht frarat &t

T PTA UgTS F - g9 Y § IR ¥
w1 et aey o 75 S ¥

AR AEH! B FARG

T IR A, TR T 3R RN & =
T §1 Y § UHITH

at fipx o €Y w1 § 39 gl 2

fore vars giar AR T g

HaTS § AfpT 33 ot surer a8

& & 9t A sawmgE

W g # gART Few! A ToRd §T
9, 9gd Bi¢ B¢ I

FH W AR FI

ST U $I UgH 1 TR W aTdt YA BT IR Ja1s¢l
;"G §1 Y § UPTUD’ HEhR Hid foh+1 diell & T g1 B a1 Bl o2
1. IqGad Tt

2. $Id IR Bl &

3. Had W & D

4. had IR Tl &

Correct Answer :-
. IuYa it

28) TIgY 9 ¢l HSH W I S W ATIE &

Hde-gde

= BTH W 138 &

AR TUY B Ja YA UfR § T8



YA € 3 faavor & ave foran s
foraT s I1f3Y 39 HaTa $ wE

FTH W I o133 § 992

T Sfatve § R 78 § 9t 1

a1 el A @ Rrar @

AR & faat foparat &t

T P UGTS & 4 g9 1Y § AR f@e=
w1 felt ybu A gg 5 §

AR HeE! B FARG

T AR A, AR T 3R W & 3=
T §1 Y § UHITH

it iR 5 €t @ 8 s g A

ferae AT gYar R BT ghar
YIS § dfhT 3 ot surer a8

f& 8wt el s

W g1 3 ORI HSH! | TR 5T
=, 9gd Bic Bic I

FH W AR FI

ST UL $I UgH A TR WA 9T YA BT Ik Ja1s¢l
U: '§ IR A exaHe @ +fa &1 Far areud 82
1. 98¢ ARG § IR IHH|

2. ST A DIS Tl

S INEIERRICRE

4. I8} Aol At €

Correct Answer :-

. IR S gurad g

29) PIge I H! TSH W I HH W ATE §
Hde-gde

= BT W 7@ ¥

AR U B TG YIS U § I8

YOS ¢ 39 faavur & ave forar s

feran ST T1fe 39 waTd 3t avE



F R FI 91 & =22

w1 Siafves § R 7 § A 31

w1 AT A @ foran 3

I &1 faaht frarat

T P UgTS F 19 g9 TU § 9N /R
FfeR ypudce TS

AR el B gARA

T IR AGH, TR T 3R W & =
T € T § TP

it iR s @ 8 s g A

fa AT gaT SR T gt

YU § dfhT 30 ot surer a8

& g 9t A svawm@

W g1 6t 59RY WSH! | ToRA §U
9=, 9gd B BR TR

HH W AR T

STT Ui P UgHR 1Y YR SH T U= $T Sk qarse|
U HewAr f5 ved 72

1. R DI

2. faegTera &1

3. UTffer SARA B

4, EXATS B

Correct Answer :-

. o &t

30) g T ¢P! HSPH IR T HTH W ATIQ 8
Hde-g9e

= BT W AR 7

AR THY $t TG YIS UfH § I8

YOS § 39 fJavur & v foran s

fera s feT 39 Hara o @vE

FTH W I o137 § 992

w1 Sfafes ¥ R 7 § A 37



w1 St A @ R @

IR & faaft forarat &t

T BT USTS & 14 &9 ¢ § 9K f&e=
&1 st y&u ¥ o5 E @

AR HETHl B gARA

T IR VM, TR T 3R W & A=
T gl Y § THITH

at fipx o € w1 @ sW g A2

foeT yaT® g AR Y& gar

YU § dfpT 33 ot surer a8

& g 9t A svaum@

W g # T9RT WS P! A TeRd §¢
9o, 9gd OI¢ B I

BT R AR &

SWT U $ UgHR AR IR TH ard U= $T Sk ga1s¢|
WR: $13 50 Bfaar & Al & Fel RA B 91 Hvar 82
1. e H

2. ATt

3. gfsar |

4. e |

Correct Answer :-

. SfaRe#

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

This ground has been set aside for religious use and so, the ground is sanct--.

1. --ified
2. --ioned
3. --isized
4, --ity

Correct Answer :-



2) Read the contents carefully and answer the questions below it:

When we visited the volcano, it was in a state of eruption. We stood near the summit on an
irregular plane; it was heaped up with stones and cinders and enormous rocks, which had
been hurled from the volcano in terrible confusion. From the summit, volumes of smoke and
fountains of liquid fire poured forth continuously. The smoke, now white, now an impenetrable
black, was accompanied by a deep roar. Fiery stones rained down, and the molten lava moved
on with a horrible sound, devouring everything in its path.

The hot stones and lava

1. killed many people

2. made the path smooth and shiny

3. destroyed everything that came in its way

4. brought dead plants to life

Correct Answer :-

¢ destroyed everything that came in its way

3) Read the contents carefully and answer the questions below it:

When we visited the volcano, it was in a state of eruption. We stood near the summit on an
irregular plane; it was heaped up with stones and cinders and enormous rocks, which had
been hurled from the volcano in terrible confusion. From the summit, volumes of smoke and
fountains of liquid fire poured forth continuously. The smoke, now white, now an impenetrable
black, was accompanied by a deep roar. Fiery stones rained down, and the molten lava moved
on with a horrible sound, devouring everything in its path.

What was the volcano throwing out?
1. Stones, burnt out coal and rocks
2. Stones, burnt wood and hot metal
3. Hot molten metal

4. Hot metal pieces and huge rocks

Correct Answer :-

e Stones, burnt out coal and rocks

4) Read the following lines of a poem and answer the question given below it.



My thirsty mind
Craves to create
Not have exams

Decide my fate

My wondrous eyes
Yearn to explore
Much beyond my

Classroom doors

My dreams should not
Be cut to size
Because I hate

To memorize

If you test me
For brains and guile
Don’t have to look

At percentiles

In this poem, the poet is a:
1. Student

2. Statesman

3. Warrior

4. Salesman

Correct Answer :-

e Student

5) Read the content carefully and answer the given question below it:

When we visited the volcano, it was in a state of eruption. We stood near the summit on an
irregular plane; it was heaped up with stones and cinders and enormous rocks, which had been
hurled from the volcano in terrible confusion. From the summit, volumes of smoke and fountains
of liquid fire poured forth continuously. The smoke, now white, now an impenetrable black, was



accompanied by a deep roar. Fiery stones rained down, and the molten lava moved on with a
horrible sound, devouring everything in its path.

Where were the author and his friends standing while visiting the erupting volcano?
1. Near the top of the volcano

2. In front of the volcano

3. At the foot of the volcano

4. On the top of the volcano

Correct Answer :-

¢ Near the top of the volcano

6) Read the contents carefully and answer the questions below it:

When we visited the volcano, it was in a state of eruption. We stood near the summit on an
irregular plane; it was heaped up with stones and cinders and enormous rocks, which had been
hurled from the volcano in terrible confusion. From the summit, volumes of smoke and fountains
of liquid fire poured forth continuously. The smoke, now white, now an impenetrable black, was
accompanied by a deep roar. Fiery stones rained down, and the molten lava moved on with a
horrible sound, devouring everything in its path.

The word “"molten” in the passage means the same as:
1. Melted
2. Heated
3. Massive

4. Matted

Correct Answer :-

¢ Melted

7) Read the following lines of a poem and answer the question given below it.
My thirsty mind
Craves to create
Not have exams

Decide my fate

My wondrous eyes



Yearn to explore
Much beyond my

Classroom doors

My dreams should not
Be cut to size
Because I hate

To memorize

If you test me
For brains and guile
Don’t have to look

At percentiles

The word “percentile” in the poem means the same as:
1. Data

2. Tests

3. Figures

4. Marks

Correct Answer :-

e Marks

8) Read the following lines of a poem and answer the question given below it.
My thirsty mind
Craves to create
Not have exams

Decide my fate

My wondrous eyes
Yearn to explore
Much beyond my

Classroom doors



My dreams should not
Be cut to size
Because I hate

To memorize

If you test me
For brains and guile
Don’t have to look

At percentiles

In the poem, the poet wishes he is tested through his
1. dreaming
2. creativity
3. memory

4. rote learning

Correct Answer :-

e creativity

9) Read the following lines of a poem and answer the question given below it.
My thirsty mind
Craves to create
Not have exams

Decide my fate

My wondrous eyes
Yearn to explore
Much beyond my

Classroom doors

My dreams should not
Be cut to size
Because I hate

To memorize



If you test me
For brains and guile
Don’t have to look

At percentiles

In the poem, what does the poet hate the most?

1. Exams
2. Learning
3. Classroom

4. Water

Correct Answer :-

e Exams

10) Read the sentence carefully and choose the option that has an error in it:

The stories repeat themself in the nearby slums.
1. The stories

2. No error

3. repeat themself

4. in the nearby slums.

Correct Answer :-
* repeat themself

11) Read the sentence carefully and choose the option that has an error in it:

Information is stored on the Internet at linked sites called as pages.
1. on the Internet at linked sites

2. No error

3. Information is stored

4. called as pages.

Correct Answer :-



o called as pages.

12) Fill in the blank with the correct option in the given sentence:

it was very cold, neither Ajay nor Vijay put on his coat.
1. But
2. Nevertheless
3. However

4. Although

Correct Answer :-
» Although
13) Fill in the blank with the correct option in the given sentence:

Parents must try to their children’s expectations.

1. understanding
2. understandably
3. understandable

4, understand

Correct Answer :-
o understand

14) Fill in the blanks with the appropriate pronouns.
___will take care of

1. We, themselves

2. We, myself

3. They, themselves

4. They, ourselves

Correct Answer :-

» They, themselves



Choose the right tag:

There aren't any mangoes left on the tree, ?
1. are there

2. isn't there

3.isn'tit

4.is it

Correct Answer :-

o are there

16) Choose the most appropriate determiner in the given sentence.

The college students had work as classes had just begun.
1. much

2. some

3. little

4. more

Correct Answer :-

o little

17) Fill in the blank with the most appropriate preposition in the given sentence.
Reema loves to write poems sitting _ the lake.

1. of

2. 0on

3. by

4, towards

Correct Answer :-

18) Fillin the blank with the correct option in the given sentence:

When a convict is --ported, he is taken away from the country.



1. de--

2. trans--

3. ex--

4. im--

Correct Answer :-

o de--

19) Choose the appropriate antonym for the highlighted word in the given sentence.

I requested my teacher to lead me in the school choir.
1. discourage

2. follow

3. support

4. accompany

Correct Answer :-
o follow

20) Choose the appropriate prepositions for the given sentence:

The students threw stones the bus and knocked the glass
1.in, out

2. from, away

3. at, off

4. on, down

Correct Answer :-
e at, off

21) Choose the appropriate synonym for the highlighted word in the given sentence.

I have no conception of what you are going to do to win the competition.
1. reality

2. inkling



3. eagerness

4. rumour

Correct Answer :-
e inkling

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

I gave a complaint to the municipal authority about the heavy water taxes levied on the public.
1. A complaint was given regarding the heavy taxes levied on the public to the municipal authority.
2. The municipal authority gave a complaint to me about the heavy water taxes levied on the public.

3. There was a complaint given by me the municipal authority gave a complaint to me about the heavy
water taxes levied on the public.

4. A complaint was given by me to the municipal authority about the heavy water taxes levied on the
public.

Correct Answer :-

e A complaint was given by me to the municipal authority about the heavy water taxes levied on the
public.

23) Choose the appropriate tenses to fill in the blanks in the given sentence:

The reviewers that this is the most interesting novel that
1. agree, has ever been published

2. agrees, have been never published

3. is agreed, is being published

4. are agreeing, had been publishing

Correct Answer :-

» agree, has ever been published

24) Choose appropriate articles for the given sentence:

She is __ expert in vocational and communication skills management for __ BPO sector.

1. no article required, an



2. the, a
3. an, the

4. a, no article required

Correct Answer :-

e an, the

25) Choose an appropriate modal for the given sentence:

I haven't seen my friends this week, they __ be away.
1. can

2. must

3. should

4, shall

Correct Answer :-

26) Choose the option that substitutes the given phrase appropriately.

A person who is skilled in collecting and tabulating numerical facts
1. Mathematician

2. Analyst

3. Statistician

4. Economist

Correct Answer :-

 Statistician

27) Choose the option that best transforms the given sentence without changing its meaning:
The students were given full marks. Their answers were correct.

1. Full marks were given to students and their answers were correct.

2. Students with full marks had their answers correct.

3. The students whose answers were correct were given full marks.

4. The students of which answers were correct were given full marks.



Correct Answer :-
» The students whose answers were correct were given full marks.

28) Choose the option that best transforms the sentence into its Indirect form:

She said, 'I am going to go to the store later.’

1. She said if that she would be going to the store later.
2. She said that she will go to the store later.

3. She said that she would go to the store later.

4. She said that she was going to go to the store later.

Correct Answer :-

« She said that she was going to go to the store later.

29) Choose the option that best explains the highlighted expression:
He gave me a couple of extra things to do just to keep me on my toes.
1. keep one fit and fine

2. Keep one distracted

3. deliberating keeping one busy

4. providing less of work

Correct Answer :-
» deliberating keeping one busy

30) Change the given statement to indirect speech.
John said, "We were playing a game.”

1. John said that they were playing a game.

2. John said that we were playing a game.

3. John said that they had been playing a game.

4. John said that they are playing a game.

Correct Answer :-

 John said that they had been playing a game.



Topic:- HINDI (HIN)

1) «fEY IF T T B HEd & orad T JfAd R & Hiar fedt fawg sravfa an
ufaured ve faRiy FReiiue, Tasdedr, Sga 3R Feitad] aT Taege Sfd 3R Aagdl & Iy
fooan a1 811> Ug By frad grT forar man g2

1. SLATS

2. BRI I §=H
3. UHei

4. ST I[CATSRTA

Correct Answer :-

2) ST & Isd 7Y fras grT fifld Py @2
1. THSHTY el

2. HERATY g

3. A=A St

4. R Tad

Correct Answer :-

o JHIATY ARAl

3) SRad 93 & Hewh § A & & foraest wama=m Tt giar 82
1. Iyor fafy

2. UF GBI

3. BIgd I

4, TTAT I

Correct Answer :-
o A=A
4) fRreror wgrae A, Rigror sifermy ufssar &t -
1. IWRIGd G|
2. Had AN Bl g
3. Had URd Fal g



4. Had YHITId Bt B

Correct Answer :-

. SWRIT G|

5) Sl & AU TA A2 -
1. DRIl

2. 3 U5l

3. H1d T4 faaR

4, TR T4 o

Correct Answer :-

. Y4 T4 faarR

6) 0 4 B9 Y AdYPR $ =U § URIG &2
1. faenfars oy

2. FoaTaTa Ty

3. GRRIHR IRATS

4. ARG Igdal

Correct Answer :-
7) T8 9 SH-91 f4Y FT ISR 81 82
1. GAfIPR Heieh ey
2. Hicdard freiy
3. Iigfds ey
4. dferd fAdy

Correct Answer :-

. Jicdard} fray

8) 30 A PIH-HT ! sigia- &) # 78 gam
1. 3{PHgHL

2. 95 HoHI



3. AIFaTd! Y
4. SITaTc! HEHI

Correct Answer :-
. g P
9) WSl drdt’ fpd T (@FuuTH) Fi Tl B2
1. izt fgd
2. ST
3. TRTS!
4. qdf fgat

Correct Answer :-

. o &

10) ‘gTgafer fpaa wert @2
1. 9%

2. T Yt

3. gaxH

4. IIRY Q!

Correct Answer :-

11) Firg-Rra Ui gyl @ s 8 & SR 9w & ed] T STARVTH -
1. YHT0TAT UTS S 5|

2. FHHAT BIch 5

3. [EAT BNl 8|

4. fafderar urg el 1

Correct Answer :-

. fafaear o S 81

12) | 1954 § YHIRI <7t Hfdar uFe1 & durgs 2 -
1. ST, IFGRY ggadl 3R ST, ST I




2. 1 AR Rig
3. IR fgaame
4. SEIHR TG

Correct Answer :-

. B IAEEY TGAT 3R ST ST T

13) Sfawrei= Hfa e fead smufya iy 32
1. HERTST STaRig

2. HEIRTS SA4Td

3. R FEA®

4, BAULA TGS HERTS

Correct Answer :-

14) fAYUI P STYR W YN $ B A G TU 2
1. TQI, 3R HTST
2. TPV, ITSTHTST

3. Y&, SIR[& HIWT
4. THfsra v, srfafsra yrem

Correct Answer :-
o Tof%ra yrem, sifaiga v
15) UTGUYRID HETIP Bl § -
1. SRIad Tt
2. Had UIGIhH Bl aryd ohH I I H
3. had 1R & Ul B Idd = o
4. HId W-HTIT |

Correct Answer :-

o SWRIad It

16) SRR B TP § Riftas $ T & RIRIE YoM S Sl Fed & -



1. org fafe
2. yquy fafey
3. 9 fafy
4. Y& fafg

Correct Answer :-

. o fafy

17) U9 G § ‘qaiUR Hae I o1 a1y g2
1. %8 4 U feram

2. 97 O fafy ferg=

3. QR &Y 91T 3@

4, AfeIRad U=l &1 dgy

Correct Answer :-

SCIRITCRREICI R

18) g=| &) HIWT F@M & T & Rrere d13ex@gIan e -
1. URgA o1 fehar &1 fawar &

2. Il o HUTAD] B T HRAT

3. S Bl TEHT o7 & g

4. S § 30T BT Adbeta & forg

Correct Answer :-

. REA BT ufehar Bl faxdR &

19) WUIR ATY Y] fFH PR & SEHIGR TH 1A 32
1. ARG

2. 3ffafcrh

3. JHfeH

4. UfcrgTRIS

Correct Answer :-



%0) gAATHE Ud $d diprad e AT ford efagRie wergey & sitaq R smutia

1. FIGTHT TTel
2. gy o 1

3, TXER TeAHTS U

4. MgiG WiTd {8

Correct Answer :-

- HETEHT T

21) TG U T IUGNT -

1. BTATeR]l U3 SR & fert BIell g |

2. Had agfadd YA o forg fan S i g |
3. 4V P iR U IR & e gt g

4. AP UF YIgR & AT BIell 5|

Correct Answer :-

. 3% iR U7 FGER & R S 7

22) fafy &1 wahT yrar o1 fo sifireafaa & g 8-
1. AifA®

2. icbfde

3. ferfaa

4. 3T

Correct Answer :-

23) o9 Ffaal A Hfesid 5t 7791 7 F3 Py Rygial a1 d&vn & SFHR 1o T $1 3, I
T HET STdl 82

1. s &fa
2. fdes #fa
3. Had Hid

4. Afged »fa

Correct Answer :-



24) U7 18701 & T w9 3R F& fora vl &1 ggrT @ T1fRY, 3Ot SR Bt 2 -
1. TRrereb &1

2. fa=Terg 1

3. B DI

4, ATQ1-fUar B1

Correct Answer :-

. Rigm ol

25) Sifirafad e § A2 -
1. Had Sra

2. Had forgn

3. g
4, ST 3R foraAT St

Correct Answer :-

. ST 3R foramr S

26) TPHRI T § TRATAT 757 FHe1 o1 32
1. fafy

2. ae

3. Ydl&R

4. H

Correct Answer :-

27) WRPHRI Tl A IS P gE1&R Bl g TeT?
1. T & 3fd § it iR

2. T H AAH TS 3R

3. T & YR

4. T4 & ARY T qrff 3R



Correct Answer :-

. TP 3fdH el 3R

28) iFaaly A foa ofa o1 <sray &1 fram s w1 U
1. SO

2. AT

3. oG
4, Brar=H

Correct Answer :-

29) a4 9 fo5 geray &1 ordf <3Fug g BT 32
1. PUBT Hed |

2. BT BIST T BHT

3. B H T3 ST B 96T

4. BT 3HER U SRR |

Correct Answer :-

. BTl 3HaR N SRR |

30) 7 & & urew wewH fopaTd § -
1. IRerd Gt

2. Had dle-fadrg

3. had XS

4. Had f=IeR!

Correct Answer :-

o SWRIad It

31) fE & A TS NS F YR UR IR BT -7 N T8 22
1. fag g

2. UY ITEIb I

3. AR dI



4, Ggad a1

Correct Answer :-

o UHdlddh die]

32) P A A fPa yoR & =3 & a1 o forar s 32
1. UTRATR® U=

2. 3TAR® U

3. SFTARS O

4, Jgfadd U

Correct Answer :-

. e U

33) A & @ F-d1 faRivar wie & gidt 32
1. THID! BT A SRIG I 6|

2. ThTep! AR 3Tl gt B

3. ThIeh! H U B UE gl 8|

4. Uchich! H Ueb BT 3fe Bl &

Correct Answer :-

. Ui H T 81 3 Bl 8|

34) FafafRaifRaid s o<e -
TR Ry ERATTe W 7 |

T4 a5 Q1 g, AT TATHR © |
Afeat 9 aTe, B R AUSH § |

3 fAfay fagw, v w1 Rigra= 21
Hd MTHYD TG &, IFERY g A B
g AIqyfi Q@ &, wur afd wdm st
1. G8P T

2. TR TG

3. OERl Ba
4. Hidd <



Correct Answer :-

e WYY

35) g § o= Y wror weeh gRaf A § -
1. UT3Y-a¥] 1 TG0 hR H

2. VoG IARUT Ga el
3, ga! Jedt

4, ARG Gaeh

Correct Answer :-

. UTS-a%] P! TG0 A |

36) farlt Bt ST AT TUT I FABR TS A1 DI Fopan 8 -
1. A

2. YqUT

3. U3H

4, HIYO

Correct Answer :-

37) fefafaa & & o149 a1 su=ar iy gt &1 718 82
1. Ta sff=d

2. R

3. qE9

4. el

Correct Answer :-

. a sfiad

38) T= UTHT ARG B &A1 & ATY UST BId § | I8 B 1 0 A fpaat 8-
1. UTadld

2. ot

3. AR



4, AP

Correct Answer :-
. D!
39) g 3t Mfafafy afg Aae ok Suatt grft i -
1. g2 DyTat 7|
2. I ST EHT ST H Bl |
3. = 3HTUH T Higd gIdR G|
4. = el o SRR G|

Correct Answer :-

. 5= 31t W Hgd BieR A

%mggmm%?mwuﬁmﬁﬂmaﬁmmnﬁﬁ‘maﬂtﬂam’m
T 82

1. 3a=M
2. PR
3. YRRt
4, TBEA

Correct Answer :-

41) et g3 919 DI oI SHfS GeTan SR 98 a1 81 $if¥e &R a@ arg it 9, s
frsiag-

1. 70 o1 g

2. Rreror = &1 Rrgia

3. 3Rl &1 gl

4. A9y &1 Rrgia

Correct Answer :-

. Mgy &1 Rigia

42) T Hfaar & e Udie U | U= 7T 8, T4 I 98 fFae ydie g2
1. 318 & fagsi &1



2. 3GH I8, SiaThie 3R SIGd &l
3. QANTd fagig &

4. Ypid GA BT

Correct Answer :-

. 3{CHI IHTE, SHA-ThI&lT 3R SRTGdT BT

43) TS 3Rl 7 A o1 fawarsi & fa ¥ A fpa fag « adff arn wmar 82
1. OIS U&=

2. TRA HTHT-Ryedt

3. U3 O & 3T T QAR

4. f9aRY &1 e

Correct Answer :-

. It UeriHA

44) CANCELLED
fFrafafEa dfemal d o1 a1 sdoR 32
g 3139 ufgafvaii el

3 g v fogdt v amet

1. TI&UT g, QTR

2. ST eg; VfoRkT

3. 3T oq; Aferd

4. FfdYT Teg QT

Correct Answer :-
. oo Yeq Wfad

%_5) O B¢ & TS IRUr § 14 3R 12 ¥ a1¢ fIvw (@fh) 3R 26 w7 & & 596 ©< o Fea
1. e s<

2. MfddT B<

3.JATB<

4.3l B<



Correct Answer :-

. Tifde 8

46) ‘BTEIE d@d: UHTd & 9 Sia HT SH1Y 7, ITDT Yd i gaiearg g’
SUETH FU fFud R $8T T R

1. YIGcTaRor g9

2. STORHR YT

3. IAYRT {8 faTex

4, ggTedt aqt

Correct Answer :-

. TEredl gHf

47) Fafafeq iR d s AT o< 82

TR, ORTTHA G & gav A 78 &1 H A<t §, T a1 § a1y amar & ||

el 9T I T Bt T ST ST gHH? AR ST IR o1 T §t arsan g
1. BT B

2. ATl B

3. Rrafolt &<

4. ATfer B

Correct Answer :-

48) A BT NS F IR A BT TATR -

g U UPR BT JUHTHS UaY 8 | SHA Jae Hroady Qe # [P aafed &1, fodiy =u I faft dR
T HETYSY BT HSHTHH & SFHR sita afvd forar srar g1

1. IR BT
2. HEIhIH

3. QRIOT
4. 3RHAH

Correct Answer :-



49) et fadwed qang-

forer 7or @ 5o A ity S g A T HEd ¢
1. T 0T

2. 3111 U1

3. RITE, TOT

4. T 01

Correct Answer :-

50) Hg! fawey gard -

39 3idifa Bg fHft faeR-g a1y -4RT A s7afRyd v8d &1 39 v ¥ Hia a1 faar &1 faer
Ha: fiEars gar 3, 34 3t Fesar wd 71

1. YdY h1g
2. ey o1
3. QRIU BT
4. fAdy g

Correct Answer :-
. ey s
51) el fawey gamgy -
Y St # f§dt smut Wudh 31 Aewayul wet a1 W § Hear qHat g
1. DIAT UTHT
2. AFHTST
3. Tfgfes UT

4, TSTHIYT

Correct Answer :-

52) Fruferf@a dfeaal & S19-91 sdeR 82
TA-ATE BT I INT A1 IS T8 R o g8 T 31
1. ToRITYTY SR



2. YifdHH dBR
3, 4ag PR
4, 3UHI PR

Correct Answer :-

o fRIYTYY 3R

2. U1 dd
3. 3
4. Vg dd

Correct Answer :-

. foarRd@

54) gl fawey garsa-

Tgfy ey yra gy i 814 8, R It &1 94 faensit & ey gaffie AT BT 2
1. §fg UM 1 foaRIISS

2. B4 U I1 Il

3. AP 3R HSHS
4. BT UYMH U1 f[oaRkIST®

Correct Answer :-

. g vy a1 faaRdsi®

55) ﬁﬁﬁmﬁgggﬁ,%m-m,ﬁﬁamqmwﬁm%lﬁﬁMﬁw
|

1. T1HR

2. 3Gl

3. Sffa=rfaayuf

4. IAd 3R A% SIIER

Correct Answer :-



56) 3R Uit & 3faer-aa- § AUl & YT BT AT 961 3| $S AN & AR
i &1 Aifefde sfag-aa Iifg-=ul 31 uRadAHar & sreag= R nuTid giar 81 367
Pe1 ¢ o arfew o1 sfagra aift-+=ul &1 sfag™ 81 sM® 3rdf # g ud) 81 W faemsy &1 =g
3R ufvad= ve Ry e de # a1 71 Te Sraafy & 91¢ Wiftd-u dad ora &1 3fER
39 9¢ATd & $© USRS FRUT G| § RN D Wil & AU | Aliecd BT THIS-HYTd g™
T8 g

Ufvsde Bl UeH I 3T Y vy &1 Ik fafae:

TR & AR faunsi &1 w9+ iR ufkadq sa gar 82

1. gRaaHHar #

2. PIA-FA H

3. TS Ygad sfigr |

4. fafRrs OfaeiRye uRfRufadl &
Correct Answer :-

- fafkry Afceres ufefufaat &

57) 3R It & 3fAgTH-a@H # HToI-FUl & YT BT 3TIE T 81 O AN & AR
it &1 Afefde sfag-aw Aifed-w=ul &1 uRadarar & srega R nutfiyd g g1
IPT HeT § [ Tt &1 sfag wifiew-wul &1 sfiea 81 ST i A gg Tl 81 W
faurait &1 9g+ 3k uRad= ue Al efagiRie deu A glar 81 ve @remafy & a1 Jified-+=u
dod oTd & | 3MfAR 39 9ea1d & $ UAsTRIP FRUT I | 357 FRUN &1 T & 34T § wifger
BT HHIS-HYS SFeT T8 §NI

IRwsq &I Ugd i foT 1Y uy &1 S fafau:

5 RN B W ¥ YTT § Tifec ST FHTo-HYT e 18 8 goanr
1. 3fdgr T

2. YA & 3G

3. BIU-FUI &b T

4. ART-FUl & dEaral &b HRON

Correct Answer :-

. IiE-=Ul & dgadl &b SR

58) 3R WAIfecd & SIENI-AW H STl & AT BT MUE 9¢1 & | TS AN & HATaR
i &1 Afefde sfagr-aw Aified-=ul &1 uRadarar & srega R nutiyd giar g1
ITPT el ¢ & At &1 sfag Fifiga-Ful &1 faera 21 3M® odf # a8 9dl 81 W
faensit &1 Ta= 3R uftad= e falRwy efaeifye e A gia1 81 ve Sramafy & ar¢ aifgd-=u



qqd WTd 3 | MMTER $H Igd1d & $© Ufagiie $RUT g1 | 39 FROUN &t Wil & UTT | Alfgd
T JHTS-HYer SfagTe =78l g1 |

TRwg B Ug@ A AT 1T vy 31 I« fafae:
g e &1 3R e g wwar 3

1. JATSI-HYad Irfgafagra

2. BT 3R 3fagr

3. e 3R oe

4. faymTa ufkad=

Correct Answer :-

59) 3R AIfecd & 3fAer-AT H ST & AU BT 3MMUE 9¢T1 8| FO ANl & HAgAR
it &1 IiefA® sfos-aw- Aifed-wul @t uRadaar & srea wR nmutia giar 31
@1 HeT ¢ fr Aifge @1 e ifta-=ul &1 sfae™ 21 eFw uf # a8 98t 81 W
fauran =1 99 3R ufad= v fafiy efagiRie Ty & gia1 31 ve Sramafy & 91 aifgd-=u
5d ST € | 3R 39 95019 & o AUASTRIS SR EIN | 37 FRUN B W & 3r4Ta A Tified
BT JHTS-HYTd SIagT™ 81 gi|

sy @1 dg@x - fau T uy &1 S« fafau:

TR & AR {59 ggara & i Aagiae sror g
1. faersif

2. SidgM o

3. Uifgcd-=ul

4. Ui dquf

Correct Answer :-

60) 3R ey ¥ 3fAerI-AT H ST & AU BT 3MUE 9¢1 8 | TO AN & WAgAR
it &1 IiefA® sfos-aw- Aifed-wul @ uRadaar & srera wR nuria giar 21
@1 HeT ¢ o Aifg @1 e ifta-=ul &1 3fae™ 21 eFw uf # a8 98t 81 W
fauran =1 99 3R ufad= v fafiy efagiRie ey & gia1 81 U Sramafy & 91 aifgd-=u
59 ST € | 3R 39 95019 & $o AUASTRIS SR EIN | 37 FRUN B W & 34Ta A Tifie
BT JATS-HYTd Sfag™ 81 gi|

TRwg B UgaHy A AT 1T vy 31 I« fafae:

TR & IR AIfecd & sfaea-a@ # frud sieqyu &1 3RIs 9871 82
1. HIA-F!

2. PRUN & 1A



3. BIA-UGadl
4. UfaeTRis dauf

Correct Answer :-



